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Y= tan” x
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What is t&\:ange of y=tan"'(x)?
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A particle moves along the x-axis so that its position at any

time >0 is x(/)=tan"' ¢ . What is the velocity of the
particle when t =167
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Derivative of the Arcsecant

y=sec x
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Derivatives of the other 3 inverse functions:
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Derivative of an Inverse Function

If fis a function that is differentiable and its inverse ig, then
g is differentiable at anyx that f'(g(x))=0

oy — i -1 _ 1 je.theyhave
(x) = — meaning S _
T e g S'» 4 reciprocal slopes
dy

Let fbe the function defined by f£(x)=x’ +x.

If g(x)=f"(x) & g(2)=1, whatis the value of g'(2) ?
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